Esercitazioni Istituzioni di Matematiche in Geologia
Disuguaglianze

Risolvere le seguenti disuguaglianze:
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XN o
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z+5>0,3z+7>0,5—2>0,—z—-7>0

20 4+12>20,22+1<0, —2>0,2x —4<0

3x+4—z+1<z—6, (z/2)+(1/3)+ B/4)z > b/4)x+2, 2 —T7—2x <7 —uzx,
r+T7T+2<7—=x

22 —-3r4+2<0,1-22<0,222-32+1>0,2z2+52>0

1622 +8z+1>0,1622+82+1<0,22<0, —922+ 122 —4 >0

22 —z+1<0, 2224+3r-2<0,322—-72+5>0,-1+5zx—722>0

1622 +242+9<0,5+42—322>0,5+42+322 >0, (x+5)(6 — ) <0
(z—2)(z+2)+(z+1)2-1 < 0, (z—2)(z+2)— (z+1)2—1 > 0, (z+1)2+(z—1)% <0,
(z+1)? < (z—1)?

2?2 =172 4+60>0, 22— 172 +30 > —30, 22+ 32 —-4<0, —22 —2+1<0

224+ 24+1>0,-22>0,224+4<1,-1-22>0

22 4+4r4+4<0,224+62+9>0,22-82+16>0, 22+ 102 +25 <0

4z* — 1722 4+4>0

924 + 422 —5>0

z*t— 222 -8<0

2t —322>0,2* +8224+15<0,2* —22+1>0, z* +22%2 > 0



